tubuann



il
L

g*=1modp
Ziml=9 &=/NDBERBxE 0r,(9) EEET Do
TTIILI—DINEE
gP 1 =1modp
KY. CDFIExEHTFET S,



il
L

R

g*=1modp

g? =1modp
AT

g P=g%gP=1modp
=, —2) D BRRREEREERIC
g%cd(@b) = 1 mod p

THb.



=

=
A FER

LLENORDEENEM NS,
g =1modp < 0ry(g)la.

(A

RFIZ,
g*=1modp

MO, aDIEEDZEE IR L T,

a
ge #1modp
Tl
Or,(g) = a.



ge=gPmodp & g*P=1modp
1=his,
g%, g2 ... ...q°")
. @ TEWZRAZ100r, (9) RIBTHS.
- BBEEMNS1D0r, (9) FARIE =M =H\0r, () B THAHEMNNZ S,

£oT. EDOMINF1D0r, () BABEIKIZZELL,



=5 1

EZAT.

Orp(91) = Orp(g2)
tﬁ'alf\ gltgz(ilﬁl_*ﬁﬁgéo

. N = Orp(gl) - Orp(QZ)
EIBHE. 9109, BIDNFERIZHI G,
g:' = g, mod p

Xy _
g, =gimodp
E15Bx, x, DNFET Do



y =919
L= Cri (Orp(g:L); Oy (92))
tj_éo

y yt = (g7 g22)" = (gh)™ (gh)*» = 1 mod p
KYylEZ1DLERTH S,

Or,(y) =L
tfdféxl, X2 f-ﬁﬁ:ﬂ?—d—éo



Ged (Orp(gl),Orp(gz)) st

A=Y
Or, (9%)|0m,(g)
Y.
9itg =1modp & g;' =g, *modp < g;' =g, =1modp
=i,

01,(9192) = 01,(91) 07, (g2)
-E;%é (o]



Ged (Orp(gl),Orp(gz)) 1

Om, (9)
Ged (Orp (g9), x )

Orp (gx) =

Ged (0r,(91"), 0my(93)) = 1

Ory, (gfl)Orp(g;:z) = Lcm (Orp (91), Orp(gz))
L1 Bx1, X, MNFET Do



1_[ g?iEAmOdp
i

Or, (4)|Lemyeq (07, (9))

DERBEET ZNE+H (L,

TH%,



p— 1 DFRHHDEEEZTEZE LT B,
Ory(PDIFUTDEIGTILTVXLTRODZENTES,
q=p—=1
] e q
while(e € E) if ge = 1 mod p then q :=

e

StHE=Z0(\yp + X 1G| log?p + Tlogp)



il fi#

pMFRHGLIE, FEDnITHLT,
r*=nmodp
DREFIOINEET S,

T‘a?"b = T.(a+b) mod p—1 mod p

Ehn, paiRELIEEDFEEE. p — 1ZERELEMMEERICRBBIBEZFF D,



il fi#

fiFp\{0} > Z,_,
¥ == x
EEET DL
a=b*modp
=
f(b)x = f(a)modp — 1
DEFENFET DIDE+TDFHIL.
Ged(f(b),p — D|Ged(f(a),p — 1)

THb,



il fi#

Hgfi = Amod pDFEFAET D

&
Z f(g)x; = f(A) mod p — 1DBNEET S

=

Gedgeg (Ged (f(g),p — 1))|Ged (f(A),p — 1)



il fi#

SEIFEDIEEE DI,
Bt 0 ()
Ged (@)= . . "
Lt5z5hn%,

£ T, Ged(f(g),r — DIEEBHDTILT) XL TRKDHHENTES,



LNDE D

A% A4 FFA rupc KU NO FA A (02:22:38)
A >S54 FA gifted infants A (00:59:47)
Success Rate 5/94 (5.3%)



A

oy R

tubuann

C++

921T

beet

C++

12317




